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Class :-12(Maths)
Property |

v a [-n w
{i} sin”' (£100) =¥, 1105[7 T_:

(1) cas * (ecosB)=8; ifhe |0, 7|

)| 8 &
(i) tan ' (tan®) =¥ if Gc(— ;).;J

.
. " ’ T
(V) vomec " (coscc 8] =H.1ffBe ‘L— N ‘_1].9 # 0
2 2]
\ S| X 2 . T
(v) sec™ ' (secB) =6 ifee [“.ﬂj,ﬁ’
9
(vi) cot™ (cot)=6; if8ef0,n)
Property I
(1) sim{gin"" x)=x: fxe [-1,1]
(11) cos({cos ' x)=2x: ifzxe [-1,1)

(iil) tan{tan ' x)=x ifxe R

(iv) cosec (cosee'x) = x; if xe{-—e=, -1} [1,=)

(v

sec{sec” x)=x fxe(-o, =11 [, )

(vi) cot(eot™ &)= x: ifre R

Property Il

(1) sin"' (—x)=—pgin"'x; fxe[-1.1]

(i) cos (- x)=xn - cos”' x fxe|-11]
(i) tan ‘(- x) tan ' x; if xR

(iv) cosec”’ (—x) =& — cogec '« A xE(—, - 1|1, =
(v) sec”' (—x)=m—sec' x! iFxe(=oo,=1] 1,00
(vi) cot™ ' (- x)=n—cot™' x: fxe R

Property IV

- ] =copec X if xe (==, — 1] [1,0)
X))

CTII |
(1) smn

(i) cos ‘[1]: seclx ifxe (-, — 1] U [1,%)
A

(1) | oot™" x; ifx>0
{111) tan [ i=q
\xJ | n+ceot ' x: x<D
Property V
(1) sin ' x4+ 008! x= ifxe[-1,1]

(it) tan" x4 cot ' x — ifxe R

(113) see™ x4+ cosee” e — i xs(—os,— 1] W 1,0}
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Property VI
sin {xyf1 -y + 3 1- 200
-,ﬁ) gin'x+sint y={ n—sin”’ (le-y” + ¥ 1-x);
g —n-sint {xyl-yt ey 1=t
f-1sx y<1 and x* + Y < lorif 2y< Oand 2*+ y*> 1
if0<x, y<landx®+ ¥ >1
K f-1<x, y<Oand 2* + y*>1
i ginaf1—y* - yf1- 2l
(@ sintx—sint y={ w-sin? txyf1 - y? -1 - 7R
& -x—sin” (le-y"-y,fl-x’l:
u-lsx.ySlandx’+y’$10rif::v>oandx’+y'>1
ifo<x<l,-1< y<sOandx* + y*>1
if 15 x<0,0<y<lundx®+y*>1

[ 433

Property VI

() cos x+cos' y

; m-lt”__vf,_xz 1-y%)  if-l=2x)s landx+ 20
2a-coe'1!xy-—Jl-x"’ 1-y%); if=1sxyslandx+ys0

(if) cos'x—costy

{ coa.“[xyn)l—x2 \}I-yz);if—ISx.ySlandxsy

—oou”{x.v*\{l-!z\h - y*hif-1€y<0,0<x<lond x>y

Property VIII
(i) tan 2+ tan' y

tan”! {ﬂ] tayedl

1-xy
= gatan [2FX L ifx>0,y>0and xy>1
1y
-,‘+w“-'[£"’i]; fzxeD y<Dand xy>1
1—xy

(i) tan™' x—tan”' y

tan™’ "y): ifay>—-1

]: ifx>0,y<0and xy<~-1

~n+tan” [z-’]; fr<0,y>0andxy<-1



Property IX

) gin™ x = cos™! ,)l-xagtan-l L = cotL Jl—x’
-3 x

=)=t

f —-2g
(i) cos™  x=sin"t 1 - x* = tan™! yi-x
x
= cot™ — .—.m’l(l)
;;1 -7 x
= 1
= CoBEC ‘
[Jl - x‘]

(iii) tan™' x= sin-'[J_l:=xx] = cos™ [W{_j] sced (i]

Property X

in~t (2x 1 — Y .-1 1
sin” (2ry1-2%);  if ¥Rt

@) 2sin™ x= {5 - sin! (21~ 2); u%s:g
-x - sin (21 - x¥); if-1<x<-

> _ 2t -1);  if0sxs1
Gi) 2cos ' x={ ( !
) ‘Zl-eos"(Zx’—l); if-1<x<0

( m"[l_f";]; if-1<xsl
(111) 2tan'x= ]4-(311’1( 2x

ﬁu—

: ifx>1
x’] *
2% )
-x+tan” | —— | ifr<-1
¥ [1—:"] %




Property XI

yac— K 1
in? - 4°) == &5
sin~'(3x - 42°); 2$x =

(i) 3sin~! x={m—sn(3x— 4¢*); if%<x$l

—n=-sin"" (3x - ax’); il'-lsx<-%

cos (4x' — Sx); if%s:st

(i) Bcos” x=2n — cos~ (s — Bx); if—%s:s%

= - 3\’—1?" S 1
3tan'x={x+tan”’ T
(1) nx n (‘ — ] i T

2n+cos (4 - Bu), f-1sx<-
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